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GCSE Mathematics

Practice Tests: Set 8
Paper 2H (Calculator)

Time: 1 hour 30 minutes
You should have: Ruler graduated in centimetres and millimetres,

protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

e Use black ink or ball-point pen.

e Fill in the boxes at the top of this page with your name,
centre number and candidate number.

e Answer all questions.

e Answer the questions in the spaces provided
— there may be more space than you need.

e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

 Read each question carefully before you start to answer it.
¢ Keep an eye an the time.

e Try to answer every question.

e Check your answers if you have time at the end.
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Answer ALL questions.

\
Write your answers in the spaces provided.

Yl

You must write down all the stages in your working,

1 Work out the difference between the largest share and the smallest share when 3450 yen C,OBS'DJ
is divided in the ratios 2 : 6 7
e S -G - X 2+¥6+ 3 = ISPa.r-l'S
3usoyYy = \§ ports
2s)| 2304 = )pPart
2. 6" 7 LEO L IBBO - 16)O
(¥230)

Diffrence  l6lo-%60 = 11SO]

(Total for Question 1 is 3 marks)

2 Gopal is paid £20 000 each month. 'Pefcm e Tacreade
Jamuna is paid £19 200 each month. G

Gopal and Jamuna are both given an increase in their monthly pay.
After the increase, they are both paid the same amount each month.

Gopal was given an increase of 8%

Work out the percentage increase that Jamuna was given.

Gopod end |£ 20000 x |.0% =#£21600

Stert x mulbipur" = Bd | £1@200 % pulbpwer = 4 21600

(+142.00) mlb s = 21600
9200
a , V2 / = LI2X
Ml pus = 1437
y - o .IZS'
=) e \2e S %
(xw00) > - ('l|'01tfll ngr Question 2 is 4 marks)
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3 There are some people in a cinema.
3
5 of the people in the cinema are children.

For the children in the cinema,
number of girls : number of boys =2 : 7
There are 170 girls in the cinema.

Work out the number of adults in the cinema.

Ciaemas &Gt £ 2 7+

1501 7

170 =2 = 85
T+ x §S= S9S

%\S PN Gl nemma

- Kiels .

Cm €L

%uiouwmoi.

(=3)

Adulkes in CAgma

Z o} totd

\\

170 + S9§ = 16S
>

- 4 ol = F6S
_‘g .,10_ bwie\ = 288

SI0

-——

%#Mﬂt

(Total for Question 3 is 5 marks)
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4 The diagram shows two cylinders, A and B.

0.56m Diagram NOT
K accurately drawn
l.em -

0.6m

Cylinder A has height 1.6 m and radius 0.56 m.

(a) Work out the curved surface area of cylinder A.

Give your answer in m? correct to 3 significant figures.

CUMNIL oo = TN
= 27 (o S&(-6)

= S. 6gm1' (35{')

(2)

Cylinder B is mathematically similar to cylinder A. LSE AsSfF VST
The height of cylinder B is 0.6 m.

(b) Work out the radius of cylinder B. (;“M‘\C" ‘S\’\c‘"(”d)

. Scale facke | 16506
(Rig ho Smalk)

il

S w=n
S

&8

4

os6=L=

w2 —_—

(Total for Question 4 is 4 marks)
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Diagram NOT
accurately drawn

3.5cm

9.7¢m

M, N and P are points on a circle, centre O.
MON is a diameter of the circle.

MP=35cm
PN=9.7cm

Angle MPN = 90°

Work out the circumference of the circle.
Give your answer correct to 3 significant figures.

M eyt =™
3.5 L\% 2. £+ Q3= mu©
@ N 106. 3% = MNT
A7 (L

ch&g . d
(m) 10,312 = MmN = CL&O..WM’ =

¢ = Tvd C = T(lomz...

(Total for Question 5 is 4 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 8: Paper 2H — Spring 2019 5



SOHCAUTOA

6
Diagram NOT
527 accurately drawn
xcm
12.6ecm
N
-
o
Work out the value of x.
Give your answer correct to 3 significant figures.
W & = A
COS B2 (2%
o &
(e ) L cos(€2) = \2-6
= (cos () o = 2.6
Cos (52.)
' = A0, S— (3s- )

(Total for Question 6 is 3 marks)
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7 Solve the simultaneous equations

Show clear algebraic working.

OF 4> "-?-::c,i—‘?—j =85 @ @ S‘M—Eu Oppomk;. R_,s
F —53 =3 B

l‘l:j = Q&
(+12) ‘3 =
=540 SRt I

= F =S

c—t% > ‘-‘%

—— Ly of I
('3/1,'?/7.,) S OOSRRRNY (5 - Y~ SO

(Total for Question 7 is 3 marks)
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8 Charlie bought a boat for £160 000.
The value of the boat depreciates by 4% each year.

(a) Work out the value of the boat at the end of 3 years.
Give your answer correct fo the nearest £.

M%xMQ\‘\;:Bﬂ 60000 X o.q(ﬁ - Wl SIS 3+.3FC6
MM Py = (-4 /. = S8 (necweat £)
- 0-96
£ JX\SSE
3)

Jenny gets a salary increase of 5%
Her salary after the increase is £252 000.

(b) Work out Jenny’s salary before the increase.

Revese Percwdaﬂe_zs
oo/ +S /. =ieX/

4252000 = (OS /.
(=05)| Z2w00 = 1/,

C)croo) £2140,000 = loo’.

(Total for Question 8 is 6 marks)
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9 The diagram shows a right-angled triangle.

o~

12.8cm

Five of these triangles are put together to make a shape.

\’:’:lag-r ;L,\r\o{ Ha Sid.q—s"
—HYPOTENLSE = 2C

A
SOk
i = 2
H
Sun (:"2)“ -¥
=
xswhBEd= 0¥
—L — ‘r)r"g -
sin(+2)

Calculate the perimeter of the shape.
Give your answer correct to 3 significant figures.

LOGIC
LOGL-

&\'{' (&

S looses (OmasTE) S X12-8 =

lside = HHPOTENLSE—AOTACEDT
= 2% - -

S ofies sides="?

Tt ! perivales

Elewzon + W6 w4 cs;\ = il O (Total for Exlestmn 9 is 5§ marks)
[

Diagram NOT
accurately drawn

Diagram NOT
accurately drawn

* @ - A0TRCEVT Y

S Scherh

ton & = %
ton(#2)= 12-8
9
‘jto.n('—?—“?_) =12-8
= 2-%
J Can (32)
- = L. |5,

Shoga Penmn:l—?/ s mmadly. ?vcm S boses (oPPosTTES)
onc S sides mecde f‘fcm HYPO TENUSE — ADTACENT = ?

E—
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10 A solid metal sphere has radius 1.5 cm.
The mass of the sphere is 109.6 grams.

Work out the density of the sphere.
Give your answer correct to 3 significant figures.

3 3
Volumg = ! volumg = % = |
mass =108.¢
: = AT
’DMS\'U'- 7 z2
A =

= 2359 Jan® (254

(Total for Question 10 is 3 marks)

11 Expand and simplify (2x— 1)(x+3)(x—5) Expend M,' ﬁ “nple Braanet s
- Vs
(x-r'))(?:’f‘) = AL - SO A3L

= :Ll—- 2 —\S

<
(1"_?_14;-)(2;(_-\) — 2P xT-uL +2: 305 HIST

= 2% —SA—2¥X S

Do - S AGLHT |

(Total for Question 11 is 3 marks)
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12 The students in Class A and in Class B take the same examination,

There are 28 students in Class A and 32 students in Class B.
The mean score for all the students in both classes is 72.6.
The mean score for the students in Class A is 75.

(a) Work out the mean score for the students in Class B.

Totor Score 2.6 X 60 = w3sSe

Totel M FS w LB = 2100

18+3L = 60 *n fotel.

Tored v 3 L2ASE -2 10 = 2256
n/\o_o._v\a-;PB 226 -~ 232 = F0.5

The lowest score in Class A is 39.
The range of scores for Class A is 57.
The lowest score in Class B is 33.
The range of scores for Class B 1s 60.

(b) Find the range of scores for all the students in both classes.

H{‘j\ﬂd)rir\ A

Highast o B

W ST F = g
22 +e0 = 43
Toded Lewest = 83
Teded Hignost | = A€

Totedd Q—aj\ﬂ@-

(Total for Question 12 is 7 marks)
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13 e=831
£=0.65

Bowrds

correct to 2 decimal places
correct to 2 decimal places

Work out the lower bound for the value of e — 1

Show your working clearly.

Ool=2 —o-0085
¥ 3% 'ew\os.)c

*"’/

g.3I

~ £.205 Cmun

—0oos”

& ©.655 famax @i i S Mmend
0-e%

—— oS p-m.m

~0.00p

(Total for Question 13 is 2 marks)
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14 The diagram shows a triangular prism.

E
Diagram NOT
accurately drawn

1
1
1
1
1
i
I}
1
1
1
1
1
1
1
1
1
1

E
g
1
10cm e &
D 7B
A 24cm B
AF=10cm, AB=24 cm and BC' =8 cm.
Angle FAB = angle ADC = angle BCD = 90°
Work out the size of the angle between the line BE and the plane 4BCD.
Give your answer correct to 1 decimal place.
Lot =tk
* = G
D - Ca o
T A
e 8 “+wt— Gup = C
A
pﬂwnéuus
P~ o = C=RBD =%
v
oL on 62
D 2
= 8Jio
® s il
g0
o
(o ® = '
Kshif+ Had & =21.¢ (1dp) Bt
(Total for Question 14 is 3 marks)
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15 (a)  Complete the table of values for y = x* — 2x* - 3x + 4
x -3 -1 0.5 0 1 L5 2 3
¥ -C Ly | 4875 4 O |-aes| =2 WY
— Y= (-2 2 2(-2) =3 (D) ¥4 =-¢€ )

Re peart «Fo/ eoon X-velkue ...

(b) On the grid, draw the graph of y = x% — 2x* — 3x + 4 for values of x from -2 to 3.
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(¢) By drawing a suitable straight line on the grid, find estimates for the solutions of the
equation
P-272-x+1=0

Give your solutions correct to 1 decimal place.

B o B o
fj = 311 2L T2 A Y ST CHANGE O L)‘: e Wl be il o
Difference =-2x +3
S CQ‘ .
3 - . ,"’_;Z _oepren.
=243 = -2 3L Maucerged kp E=lL~AH=
L D{'C{ ) \j";~ 2x+ 5

B = g ke b o maedion i ss@E 8 o R0 “
\’C?nf\ff oy /SO Ao vOOLS = ?’(Total for Question 15 is 8 marks)
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16 Simplify fully ( 256310 ]7
X " N
_“":_‘__ ase 1@ - ) ; L
L 4 - \2sex”
A1 MO A . (jt
(o) =& r
e

|
!

(Total for Question 16 is 2 marks)
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17  The histogram shows information about the birth weights of some babies.

A

Frequency
density

0'@'@)

L@ _
0 - L.
2 3 4 5
Weight (kg)

6 of these babies had a birth weight less than 2.5 kg or greater than 4 kg.
Work out the number of babies who had a birth weight between 2.5 kg and 4 kg.

CoaNT SGHUARES
L = 205QueTs

b = (0 SQuWARES
(=6)

TOTIrL SQUALES = 20 3qQuaces = & bueres

S SQuUALES = \ bk‘ﬂj

C = 20 sauAie=ES
ch = TOSauArESs ToTAL SQUARTS = A0 SQAUALES

e — SQ Seuaes
_ll = 60 Sourles

2io0= S = UL Bcoied
—_—_—

(Total for Question 17 is 3 marks)
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18
Diagram NOT
accurately drawn
A B

The diagram shows a hexagon ABCDEF.

BC is parallel to ED.

Work out the size of the obtuse angle DEF.

ID (] ] - o
—C RO —L2" =13%
wi

CCr —[‘Mmr G:'HULB
enor ogle ahk'{j]m

= (n—2) ¥ 180 = (6*1)\(\%() = "F0
= T L a & . o B i

To+ed a«qs\-eu- SO +46 4+ WL +u42 +13€ + =320
o (&)
GICTE= FW

— QO
(—430) E =280
Arofes arewnd & | @bllB@ cngle = 2¢0”-2s0"

f)c:m/d'- = lp)éc)ﬂ ©
= O

....................................... JIGTE

(Total for Question 18 is 5 marks)
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19 A triangle has sides of length 8 cm, 10 cm and 14 cm.
Work out the size of the largest angle of the triangle.
Give your answer correct to 1 decimal place.

(onopns orgles

o 2 =
Okl :\41+C.L—“z.\ac., cos ™ cos Pr‘-‘b +C o
2ot

Cos(x)=2 + 51— o)

%)
coS Cx\ - leL\'?-L- [P
2(10)(8)
A
cos () = ¢

Agos i Az se® | - 100 mosk e Me loapest ergle

(Total for Question 19 is 3 marks)
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20 A frustum is made by removing a small cone from a large cone.
The cones are mathematically similar.

L) .‘l
'I' \\‘ Diagl‘am NOT
s Y accurately drawn
s hem e
v
Frustum
The large cone has base radius » cm and height 4 cm.
Given that
volume of frustum 98
volume of large cone 125

find an expression, in terms of A, for the height of the frustum.

< : . oni g S
diralh tot Hrushg=lede V=T h
Cend -
i ‘ g e T I, - -
PEOfOETIoN SmelA cone 25 l
' Cos k. cong = =¥
- i erno Arceuc i LB CMNE =
Sl €ne. VL NEE : V2 <
Vierlliaag ;4’1('; o U \('AQ\(
22 . nas (= f)
|2 iis~
LSF = AT -
™
g bt AT Lo Tt
lr((/‘;(,r | { (ga'se - "
; ‘ j_.l-‘ + Ev-u wrwmh=
- O\ L -—
el cone t rj‘ fun= 1 ) > .
‘b“r v el 1 - = '
J\—-v ¥ q—n.e_.,-'Lf’\ B s >0 \ .................................. cm

(Total for Question 20 is 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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